Cumulative Algebra Review- Chapter 07B

Algebra 2H

All work is to be neatly shown on a separate piece of paper. Please write and box your answer, including the multiple choice answer letter. This is due the school day after the chapter test. It may be graded on both completeness and correctness.

1. If the graph of the equation 
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 is tangent to the x-axis, then the value of c is

(A) 3      (B) 3.5      (C) 4      (D) 4.5      (E) 5

2. If 
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, then what is the minimum value of 
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(A) -8.0          (B) -7.0          (C) 3.2

(D) 6.0           (E) 11.0

3. If 
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, then for which of the following values of x does 
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(A) 0.62

(B) 0.71

(C) 1.36

(D) 3.93

(E) 4.95
4. In a recent Mythbusters episode, a rocket sled is propelled into a target. If the sled's distance d in meters from the target is given by 
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, where t is the number of seconds after rocket ignition, then how many seconds have passed since rocket ignition when the sled is 10 meters from the target?

(A) 2.58

(B) 8.56

(C) 8.94

(D) 9.31

(E) 11.26
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	3


5. The table of values above shows selected coordinate pairs on the graph 
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. Which of the following could be 
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(A) 
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(B) 
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(C) 
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(D) 
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(E) 
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Diagram for Written Response Question
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Written Response Question

A complete response requires the following:

· Express your thinking in words

· Label any figures you draw

· Identify any formulas used

· Make clear the source of numbers used

Full credit will not be earned if your work cannot clearly be followed. The final answer is important, but meaningless if you cannot show somebody how to get it.

----------------------------------------------------------------

You can create a box from a 24-by-60-unit sheet of cardboard by using the pattern at left. The box will have a lid with a flap that tucks in to keep the box closed. To form the box, you cut along the solid lines and fold along the dashed lines.

a. What will the dimensions of the box be?
b. Write a function in both factored form and general form for the volume of the box in terms of x.
c. What is a meaningful domain for the volume function? Explain.

d. Use your calculator to graph and find the maximum possible volume.

e. To the nearest thousandth of a unit, find the dimensions of the box or boxes that fit this pattern and that have volume 1000 cubic units.

f. Let a and b be the dimensions of the sheet of cardboard. Assume 
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. Write a function in factored form for the volume of the box in terms of x.
g. Give a meaningful domain for the general volume function. Explain.
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